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Instructions : (1)  Check the question paper for fairness of printing. If there is any lack

of fairness, inform the Hall Supervisor irninediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

&S - 3| / PART - A

GO : () Semengg ddamésEnsEn oo wialssaib. 40x1=40

Note :

@) sfwrer elenLemwis Cﬁg,frm Qeig) eT(HEIS.

(i) . Answer all the questiotis.
(i) Choose and write the cotrect answer.

A erenug) 3 aufflehs o drer ggr jenfl erafied |Adj A| Qe Logh_u_l

(1) AR (<) [A] (@) 1AP () AL
If A is a square matrix of order 3 then |Adj Al is :
(@ AP ®) Al © AP (@ |A]

[ Hplys / Turn over
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2

@aIQeumm e mliLb 2 <6 2.6Tem G nXn SAaiufer b |

(o)1 (<=4).2 (@) n () n?
The rank of an 7 X # matrix each of whose element is 2 is :

(@) 1 ® 2 @ m @ n?

Crflwe FoLGESTE FLAUTHEEHES, G@DHS ULFD QBUUS |
Eieysar. |

(@) 1 (@)2 @) 3 () 4

A system of linear homogeneous equations has at least ‘ solution(s).

@ 1 b) 2 © 3 d) 4

o eraf® - Geuelui® LELUMbeier Gsweu@D amiGhsrer aprédaen -
@swer HlLpsmansaflen ereamemnsams. ‘
(<) 1 (=) (@) 4 () 2

The number of Hawkins - Simon conditions for the Viability of an input - output model
is: |

(@) 1 b 3 © 4 @ 2
A B
A(07 03 7
B B( x 08) ereTLg) Ins® Hepsse| et erafld x :
(w03 (=) 0.2 (@) 07 () 0.8
A B
A(0.7 03) . . B ' o
IfT= B( 0 8) is a transition probability matrix, then the value of x is :

(@ 03 | ®) 0.2 © 07 d 0.8
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2 2 : L

o+ 1;— =1(a>b) eramp Sereul LsHen Qreiausalb.
a

24 P R b2
(1) =~ (=) o (@) — (/) o

, 22
Length of the Latus rectum of an ellipse — + 7z =1@>b)is:
a .

24% a? 26> b2

= 19) N = -
@ = | ®) = © = G

@@ Fib euliquflen enows QT 56 iz erarflér Sy euameTeuedyy ;-

7
(31) @@ UFeuemaTwiDd | (<) @@ Bereul L ib

(8) @ el iib () e é[é]ugmamrru_lm

The eccentricity of a conic is % The conicis: o

(a) a parabola : (b) anellipse

() acircle (d) a hyperbola

x?=4ay Qe QuiGEeIN :

(31) x+a=0 (<=1) x—a=0 (@) y+a=0 () y—a=0
Equation of the directrix of x2=4ay is : \

(@ x+a=0 (b)) x—a=0 () y+a=0 (d) y—a=0

Qgcieus sifluraueetuger eows Qgraas ssa :

(@02 (@) @v: ™
The eccentricity of the rectangular hyperbola is : '

1 1
@2 B3 © vz @ 7

[ HlpLiys / Turn over
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10.

11.

12.

4

C=23-3x2+4x+8 arananid sriden errefl wrPTE Csweureang) :

(o) 2 (@) = @ = (") -

x X

The average fixed cost of the function C=2x3—3x2+4x+8is:

2
@ 7

4 o 28
- © - (@

R |

(b)

@@ Qummaflen Cseneud g g=—3p+15 (0 <p <5) @mGp dshugu QPT DG
Apumer elmamus GRsSpg erafld, Comeu ApspFAuTeang :

9p2 +15 9p — 45 15p — 9 .
(@) T @) @ () 55

The demand for some commodity is given by g=-3p+15 0 <p< 5) where p is the
unit price. The elasticity of demand is :

9% +15 9p —45 15p — 9 p
P - p

(@)

y=222+3x erenp TN x=4 erailed y-evr 2 L ey Lorrgjaﬁg,mrrmgj :

() 16 (@) 19 (@) 3 (w4

If y=2x2+ 3%, the instantaneous rate of change of y at x=41is:

(@) 16 | b 19 © 30 d) 4
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13. y=x2-log x TENY GUEETEUEDFES, X =2 & QsrHCsrigern smiie]

@) -2 () - 2

NN

(@) 2 (<)

The slope of the tangent to the curve y=x2—log x at x=21is: -

RN
NTEN

() (b)

NI

7
© —5 @ -

14. x=y>~6y TGN QUMETAUMY] Y-I|FmT SLEGD QLS ipan Friieureang| :

(1) 5 (<) -5 @z = M-

‘The slope of the curve x=y2—6y at the point where it crosses the y-axis is :

@ 5 ® -5 © @ -2

15. f®)=3(x-1)(x-2) ag Csss Hava wHy Qup Cousmm@omuler x-en LDQLM

| 3 2 -3

(1) 3 (<) 5 @) 3 (m) 5
The stationary value of x for f(x) =3(x¥1)(x- 2) is :

' 3 .2 -3

@ 3 b)) = © 3 (d) —-

[ Spiys -/ Turn over
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16.

17.

18.

19.

y=23 ereid &mirL erGLmIpGILD

(=) @6 &G0 sy
() ¢@ wmld

y=x3is always\:

(a) an increasing function

(c) a constant function

3

g, =2000+8p; —p, eTailed 9 _
9P,
(<1) 8 (=) -1
If g, =2000+8p; — s .
0 +8p; —p, then is :
2}
(@) 8 - b -1

() @B GOPLD sy

() @Qaupdler ergidlerenco

(b) a decreasing function

(d) None of these

(@) 2000

(©) 2000 @ 0

@&@@4& gy y=40—4x+x? eri@Qurpgl i iU e ujd ?

(o) x=2 () x=-2

The cost function y=40—4x +x? is minimum when x :

(@) x=2 (b) x=-2
3

dex=

-3

(=1) 0 (=) 2

s

J'xdxis:

-3

(@) x=4 () x= -4
© =4 @
(@ 1 () 1
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21.

22,

()2 (%) ~2

(©)
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@ 1

Qng flewew eumeumis smiry MR=15-8x erafled quameumiy &miL :

(@) Bx—d2+k (<) 2 -8
X

(@) -8

(/F) 15x—8

The Marginal revenue of the firm is MR=15—8x. Then the revenue function is :

15

(@) 15x—4x2+k (b)) — -8
x
dy —y . @
d—i ="V an Sirey :
(=1) ¥ . e*=c (<) y=log ce*

The solution of L =e*Y is:
- odx .

(a) e¥.e*=c (®) y=log ce*

(9

-8

(&) y=log(e*+c)

(c)

y=log(e* +c)

d) 15x—8

(FF) e¥tY=c

(d) e*t¥=c

[ Sigptiys / Turn over
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23. xdy+ydx=0 en Siey :
(=) x+y=c () P +y?=c (&) xy=c (FF) y=cx

The solution of x dy+y dx=01is :

@ xty=c ®) F4yize @ w=e D y=a

2 ,
24. %—6 %=0 T euenss Q& Fwerurligenr Llg wHmb euflens
X x ‘
wperpGw :

(=) 2 LDfDQILb 1 (=4) 1 wHmd 2 (@) 2 Loﬁ)glLb 2 (/) 1 womibd 1

| 2 :
The degree and order of the differential equation g—g- -6 Z—y =0:
. N \f »

() 2and1 (b) 1land?2 () 2and2 '(d) land1
d? . C e
25. E% —y =0 erenmm FwerIT g6 Siey :
x : V
(<1) (A +B)e (<) (Ax+B)e*
(&) Ae* + —B;— | (/F) (A+Bx)e™*
e
2
The solution of % —y=0:
(@) (A+Be* - () (Ax+B)e~*

(© Ae* + % ' (d) (A+Bxje~*

e -



26.

27.

28.

29.

9 » | 6278
h=1 erefled, A(x?)=
() 2x (=) 2x—1 (@) 2x+1 () 1
When h=1, A(x?)= |

(@) 2x Cb) -1 € 2x+1 . d 1

y=ax+b erenp Crr&Camient L1 QuThSglelghame @u.lébﬁ@)@)éﬁ FLOETLIT(HEET
10a+5b=15 wHmid 30a+10b=43 Y @Wb. @UQAuUTIg Wal QuTmHSSLTer

CrirsGamigen smile] :

(=) 1.2 (<) 13 @) 13 (F) 12

The normal equations of fitting a straight line-y=ax +b are 10a +5b=15; 30a+10b = 43
The slope of the line of best fit is :

(@ 12 ®) 1.3 (9 13 ‘(d) 12'

raEmity ureuden symefl wHmib LreumLIg wepGw :
(1) np, npq (<) pq, npq (&) np, npq () np, nq

The mean and variance of a binomial distribution are :

@ mp, npq b)  pg, npq € mp, npq d) np,ng

X g urligres wrdl wHMYLD PX=1)=P(X=2) erefle éqg;m Fymatiwreng :

(20) 1 (<) 2 (@) -2 () 3
If X is a Poisson variate with ‘P(X=1) =P(X=2), the mean of the Poisson variate is :

(@ 1 (b) 2 (© -2 d 3

[ $liys / Turn over
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30.

31.

32.

10

@ umisren wrdlulder St cllowssbd 2 erafld,sige srmaf

(1) 2 (<) 4 @) V2 (™ 75

The standard deviation of a Poisson variate is 2, the mean of the Poisson variate is :

1

(@ 2 (b) 4 © 2 @ 7
X ~ N(8, 64) erafled, FIL @Quicd Flenav womhl Z =

X — 64 X8 X -8 X8
(@) —3 () —e1— (&) —5— (") ~&/
If X ~ N(8, 64) the standard normal variate Z will l;e :

X—-64 X—-8 X-8 ‘ X~-8
(@) 3 ®) © —5 @ ~&

ngjé;a;gg,é;a; T HCETERSHE@ Brldunrs ewelg)

(1) pseed r@CHTET (<) yerefluwed smpm

(@) wrmmy erhHCamer () pbYsms erHCsmer
A hypothesis complementary to null hypothesis is called :
(a) primary hypothesis (b) statistical statement

(c) alternative hypothesis (d) confidence hypothesis



33,

34.

35.

11 6278
Z-5® 1% Hleveoufled @Vrrasrﬂl;lqu LGS :
(1) 2] < 1.96 (=) |1Z| = 2,58 (@) 1Z] <196 () |Z| > 258

The critical region for Z at 1% level is :

-

@) |Z| <19 () |Z| = 2.58 © |z <196 (d) |z|>258

ONI&ESSS5S GI’@@HSI‘I’GIT 2 amenwrs @mpbsl, Brrefssiu@eugne 2w
Papssa, :

(31) pge auanasll 1Ganp v (<) @arLmbd euansis 9enip
(8) &CpELUL e () L tnGenip

The probability of rejecting the null hypothesis when it is true is :

V(a) Type I error (b) Type II error

(c) Sampling error (d) Standard error

Yyaws 0sregd dammaimw wIHLSH QeybQurips 95% y_r,mua;
@m;@maﬂmwu Qup ummu@g,g,uu@m Z-ai S :

(1) 1.28 (<) 1.65 (@) 1.96 (/) 2.58

The Z-value that is used to establish a 95% confidence interval for the estimation of a
population parameter is :

(@) 1.28 (b) 1.65 © 1.96 (d) 2.58

[ SlLiys / Turn over
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36. smed &mm Gsmi euflensuiled QmLiLIS Fa[IHET.
(@02 (@) @ (m) 1
A time series consists of ' components,
@ 2 ® 3 © 4 @ 1

37. emrevQufear gOWEL®H eramanild LWMIBSSILHD TaLS6T
(1) SAqLILIEDL Y @TIG6 SHETOYHET
(<) BLLIL| @I 60T DH6TEYSET
(@) ue Yy erHsarer @{m@_]ésaﬂsirr symai
(F) @Qeubdléd ergilevanen
Laspeyre’s index formula uses the weights of the :
(a) base year quantities
(b) current year prices

(c) average of the weights of number of years

(d) none of these

38. o Husd QurmeTsend GO L STyETRGETTE GHLED LrYUTRSEFEEE
© GWyewTLD » ,

(=) soupren Gewcum(

(=1) @ﬁ_lés@umr'ra;aﬂairr Sl Hwg Femenio

(@) sser QurmLsafler s5& GoDay |

(FF) CHsHarL. imears i

Variation due to assignable causes in the préduct occur due to :

(a) faulty process

(b) carelessness of operators

(c)  poor quality of raw material

(d) all the above
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39. @L(Hays Cspeien erereneser

(=) 0 Qo> QHa = ey () —° Qo Qpg © ey
@) 180 Gopslawr () Qupo gafdas
The range of correlation co-efficient is : |

(@) Otow () —@tow

Zc) ~1to1 (d) none of these

40. QgmrLiy Gu\r'réS@ eranm Qereme PupsiiuBsSweur :

(1) RA. Qagit (=) & SelpTenlon ST
(@) sréd Gwisan , () @euirsefe eroumid @dama
The term regression was introduced by :

(@) R. A. Fisher- | (b) Sir Francis Galton

(c) Karl Pgarson (d) None of these

LGS - ), / PART - B
@ES]'-"-I : gGs@ib LSE ellamssEnséE WG el wel&sa . 10x6=60

Note : Answer any ten questions.

i a=(; ) 8= (7, 1) aam omiaeie ian= (A B A) s

flumT&&ae].

3 1 10
Given A = ( . 2),B= ( ; J verify that Adj(AB)=(Adj B)(Adj A). .

11 1 1)
42. A=|1 3 -2 1| erenmp afllien grd sraws.
20 -3 2 ‘
11 11
Find the rank of the matrix A=|1 3 -2 1/.
2 0 -3 2

[ &pULs / Turn over
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43.

44,

45.

46.

47.

14

9x2+16y> =144 erenp Ber eul L Gle, emou_lg Qsrewed 556, GeNUBISET,
QFeLaUSOLD (PSEILIGT &STEHTs.

Find the eccentricity, foci and latus rectum of the ellipse 9x2+16y%=144.

MeTESLD H(HE.

n 1' and p=3. Interpret the

result, S

Find the elasticity of demand when the demand is 4 = PZO

x-an erWHILEEESG, ¥3—5x2+5x+8 Qe 6%:.@!.]3 aiglomang x-e61 Fa(HL
aiggsamsll CuUTe) @HLEISTGD ?

For what values of x, is the rate of increase of x3—5x2+5x +8 is twice the rate of
increase of x ?

3%u '
34322 +1° erefled = —— & &
HeE vy axay Jyox Blpiay
2 2
If u= x3+3xy +1°, prove that ou _ 9u
- ox ay ayax

@ Qurmefler Csamen x ergyb QuTE efma@mwull QuIBss Csmal
QBSLpFs] ic—x:E, x> 5 erafled, eflewen 2, GCgeneu 7 erait QLimpg Cgeneud iy

WLHMID QUBEUTIF FITTL| SHTEHTs.

_5,x>5whén

The elasticity of demand with respect to price p for a commodity is ad

the demand is ‘x’. Find the demand function if the price is 2 when demand is 7. Also
find the revenue function. ‘




48.

49.

50.

51.

15 6278

. Yy

1
+ = —sin2x.
1 TYCosx =7 sin

Eréa

Solve : 4y +yc:osx=1 sin 2x.
dx 2

68 : x(y2+1)dx +y(x2+1)dy=0.
Y y Y

Solve : x(y2+1)dx +y(x2+1)dy=0.

QaTRHésuuHerer efeurtismens Qaram® eAHUL L amamats Grams.

X 0 5 10 15 20 25
¥ 7 11 14 - 24 32

Find the missing term from the following data :

x: | 0| 5 [10] 15| 2 [ 25
y:| 7 | 11|14 - |24 ] 32

Sx=10 ; Sy=16.9, 3x2=30 ; 2xy=474 LPYD n=7 TEUMUDNES SESLI

aeruuULL sl Qurmsgorar Carlined x-osflar Qaul (s sammLs

SIS, _ '

In a straight line of best fit find x-intercept when 3x=10 ; 2y=16.9 ; 2x2=30;

2xy=474 and n=7.

[ $®Liys / Turn over
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52.

53.

lp):J o5 | 1 | 3] o] 3] 1] 1

16

Spssan_ Hapsse) LUraugissrer B(2x—7) & wHlUS GTas.

x:|-3| 2|10 | 1] 2]?3

Find E(2x —7) for the following :

X:| —3| 2| -1 0 1 2 3
p):| 05| 1| 30 | 3 ]a5]| 1

<961 Gewalampbg 500 < LIfdrEmand Camam g FLo eumitilg saml
TP 15 nferser Si@AGHEeT. @S Asrefulgidar Sy

< 9dTsEnEENu romasmer 9%pbdsms L SHlw srars.

54.

]

A random sample of 500 apples was taken from a large consignment and 45 of them
were found to be bad. Find the limits at which the bad apples lie at 99% confidence
level. . ' - '

G eseu (LD @S]@Jl;ﬁéj&@é;@ Y e Bgmen X oL an Qariiy Curégs Camligen '
FORTUTL®LE STers.

X:1 10 12 13 12 16 15 -

v:1| 40 | 38 | 43 | 45 | 37 | 43

Calculate the regression equation of X and Y from the following data :

X:110 12 13 | 12 16 15

Y: | 40 38 43 45 37 | 43
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55. @Bwu wrey Csaeys S wapuld arpsmss sr GO QL aramears
SeTES (). '

Qumqpar A B C D E F G H

g LILIGHL <, ETg 60
sfeme] (A0G)

Sl LILIGDL <4,60Tlq 60
alewav )

BLLIL] <2}60iq. )
allene (%)

20 | 50 | 50 | 20 | 40 | 50 | 60 | 40

10 30 40 | 200 [ 25 | 100 | 20 | 150

12 35 50 [ 300 | 50 | 150 | 25 | 180

Calculate the cost of living index number using Family Budget method :

Commodity A B C- D. E F G H

) . . B "
Quantity in Base 20 | 50 | 50 | 20 | 40 | 50 | 60 | 40
year (unit)

Price in Base

10 30 | 40 [ 200 | 25 |.100 | 20 | 150
year(?). ‘ ‘

Price in Current

12 35 50 300 50 150 25 180
year (%)

LS - @ / PART - C
GOy : gCaaib USEH amEsEréaE W Hb el iLalssaylb. 10x10=100
Note : Answer any ten questions.

56. Gemeuqpld FwerLThsmer Siaflpepuler Erés.
x=2y+3z=1;3x—y+4z=3; 2x+y—2z=—1
Solve by matrix method for the equaﬁons
x=2y+3z=1; 3x—y+4z=3; 2x+y—2z=—1.

[ Slpliys /.Turn over
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58.

6278

18

(pumi Gsmesailed) &G Car@ssu(Herare.

o | e uCurdluGuimt ) ) o

2 pugBureni ———1———| @05 Cpwan | Gorss 2 pusdl)
P 14 6 8 28
Q 7 18 11 36

P-an @mHSCsma 20 Y sa|b Q-a1 @miFH Caameu 30 @clpaseqm LOTMILD @urr@gﬂ
Slunler 2 HLSH DeTEUSMETE STEwTS. ‘

The data below are about an economy of two industries P and Q. The values are in
crores of rupees.

_ User ' _
Producer Final Demand | Total Output
P Q
P ‘ 14 6 8 28
7 18 11 36

Find the output when the final demand changes to 20 for P and 30 for Q.

222 +5xy + 2y2~11x — 7y —4=0 eranp UFeuaerwsglen CFras QT safien

FLOGTUTHSEETS HT6ls.

Find the equations of the asymptotes of the hyperbola

2x2 +5xy +2y? —11x — 7y —4=0.
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19

s @b 2 HusH Hleveudeid AR opmId MR eramuian gymafl eumeumis LOHMILD

QuiFflae aimeuranwis Gblssme, Coamou Qpdlipsflwirans) FARI\E
s erar Hlmiels.  @eng p=a+bx eren Ceameu Car®h eN&@ sfumiss.

-5 &

6278

If AR and MR denote the Average and Marginal Revenue at any output level, show -

that elasticity of demand is equal to ARAMRMR Verify this for the linear demand law

p=a+bx where p is the price and x is the quahtity.

60. f(x)=x3-27x+108 eremm &riSer G wHlurearg sigar oo e

61.

eflL_ 108 &n[Dpars 2 ararg) eram Hmieys.

Show that the maximum value of the function f{x)=x3-27x+108 is 108 more than

the minimum value.

@R swrillurert geray e w B&TCuTmEE < amHCsrmib g;G%T@]GO)I;UJ«

surflifGad 600 sw@sar eliliy Qsudpri, GODUTHSET 6rgeLb
Q@wdssiuLldme: eréE Cssss Gsway @euleirm AEGEE0
ReuCeurm YO 60 @usTEsHT. SiowuLE Cdewe) T 80 eafld
Epaumelaiaipenms &rers.

@) Ve wsTw Carmed CFaaey (EOQ)

i) S G)J@l_rr(rbﬁlj srrafl Qaeay

(i) - euQaumm UBLEHDGD 28685 Cammaear cramaisms

() @eerm 2 555 CarmaIs@D 2 855 el sraLb.

A manufacturer has to supply his customer with 600 units of his products per year.
Shortages are not allowed and storage cost amounts to 60 paise per unit per year.
When the set up cost is T 80 fmd, ‘ :

(i) the Econofnic Order Quantity (EOQ) -
(i) the minimum average yearly.cpst
(iii)  the optimum number of orders per year

(iv) the optimum period of supply per optimum order

[ HlLiys / Turn over
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62.

63.

64.

20
7 dx
LD‘Q(;]L_IL{ STEIT j WE—;.
T
A 7 dx’
Evalu»ate~—~_“—--iT— T - -
% ‘
Cgmeus FmiL p;i='40—x2 wHmid Seflig§ griL p,=3x2+8x+8 erafle

edurunyé spensude swrar Haoulear Sip e HusSwreri wHmd Hi&TGeMT
eT&s LIT(DSEETES HTETS. ‘

Ina perfect competltlon the demand and supply curves of a commodity are given by
p;=40—2x% and p, =3x2+8x+8. Find the Consumers’ Surplus and the Producers’
Surplus at the market equilibrium price.

2
Qp=42—4p— 4%+% wpob Q,=—6+8p ereatuear popPCw @

Quﬁ@@tﬂeﬁn Caemas lere] LHNID Saflliy Siete] YHuaeapeans GHEHDS!.
(@i p erarugl demomus GHESDS) sHagL urﬂmrrmmg,g‘,\so gmmﬁmm

QS]GG)GDGDLUGS (equilibrium pnce) STEHTS.

Suppose that the quantity demanded

2
Qp=42—4p— 4% + %;?p and quantity supplied

Q,= —6+8p where p is the price. Find the equilibrium price for market clearance.




65.

66.

67.

21

Qar®ssiuc_erer efleurmisamers Osream®, @osrrepdufer GSSrsangL
LweuRsS x=5 erafled, y-6m wHLwLE sTeTs. '

x| 1 23 | a7

y:| 2 | 4 | 8 | 16 | 128

Apply Lagrange’s formula to find y when x=5, given that :

y:|-2 | 4| 8 |16 | 128

2% QCer(s6r  LsTaTmel eranry AUEGCarRsaflen = HuGHwTert
QzsfelsSpmt. em Qsr@li9embs) Fwemiiiy wrélflserrs 200 9Cer@H&ar
TREsILGHanar. 3 D@z SiFHE Copul L 19Car@EeT LI(pSIeTaTan QLTS
@@Dgggba;rrsm Blspssmald srams (e~*=0.01832) AR

Itis stated that 2% of razor blades supplied by a manufacturer are defective. A random
sample of 200 blades is drawn from a lot. Find the probability that 3 or more blades are
defective (e~4=0.01832). ' : .o

Gairey ’gr@g]vu.l‘ﬁa;aﬂaﬁ]@gbgj 1000 puiTsmers QETaRTL o ThEsSer Frraf
wHIQUeaTsEr 45 ppid Sl elwssn 15 erar o drarg. @UiLred, @ud
Bleveoulled 2 crergy erans Qarean(, D& ST cUDeImE HrewTs.

@ 40 wHmiD 60 &G Qe ule HLIQ LT Cupmeliaer erésamen G ? |

(i) 50 &@W Gwe WHICGUE@T QubDeTsET erggemen Guir ?

Z: 0.33 1

Lty © ] 0.1293 | 0.3413
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In a sample of 1000 candidates the mean of certain test is 45 and SD is 15." Assuming
the normality of the distribution find the following : ’ :

() How many candidates score between 40 and 60 ?

(i) How many candidates score above 50 ? .

Z 0.33 1
Area |0.1293]0.3413

68. 1600 Hmeusemens ClarewTL s @m@e&@gg sauiseian syrefl HiamaTHey
e (IQ) 99 2 @. &rmsi mi@menTHle| Fey 100 Hoib L essd 15 GTae LD
QareTL (ppennd AsTEHISmbBS iS5 r@&EsILLL ST eTar Gamgl&Esa|ib

(5% @pé&dwusgiel L LH®)

The mean IQ of a sample of 1600 children was 99. Is it likely that this was a random
sample from a population with mean IQ 100 and standard deviation 15 ?
(Test at 5% level of significance). :

69. 5x,+20x, < 400, 10x; +15%; =< 450, Xy, %5 = 0 eramp SL_OUUTHSEHES ahs
z=45x,+80x, & QuUEHLD WL QUL SSET (paLD STaTs.

Solve the following using graphical method : -

Maximize z=45x;+80x, subject to the constraints 5x;+20x, = 400,
10x, +15x, < 450, x1, X, = 0.
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70.  deameupid efleuhisamars Gsrem® Wagfen allpuilu @HuS QL air sarsd@s.
Cogib, Qg sryemfl wrHmé GCergamer LHMD sre wromé Cergener
< Sweuparn Hevmay Qeflng erend s (s,
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) llenew 2676
Gumper : : : ; . ) . ;
. AU HE | FLUY a6 | gL e | pLLil) ()
A 6 10 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12 30 24
E 8 12 40 36

Using the following data, construct Fisher’s Ideal ind

Reversal test and Time Reversal test.

ex and show that it satisfies Factor

) Price Quantity
Commodity
Base year Current year Base year Current year

A 6 10 50 56

B ) 2 100 120

C 4 6 60 60

D 10 12 30 24

E 8 12 40 36
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